Oggetto: Life Technologies Order Confirmation - 2355677SO Purchase Order - 0000437

Mittente: <do not reply@thermofisher.com>

Data: 16/02/2022, 11:42

A: <francesco.baesso@nano.cnr.it>



Order Confirmation

Thank you for placing your order!

We will send separate email notifications as items on your order are dispatched for delivery. You may also use the View Order Details button below to check the status of your order, or you can use our Quick Links to contact us with any questions.

Order number : 2355677 Order date: 16/02/2022

Purchase order number: 0000437

Release number: Contract number:

Order placed by: Francesco Baesso

Phone:

Email: francesco.baesso@nano.cnr.it

View full order details

Order fulfilled by:

Life Technologies Italia

Fil. Life Technologies Europe BV

Via G.B. Tiepolo, 18 I-20900 MONZA MB T: 039 8389482 F: 039 8389492 thermofisher.com

The following are <u>stocked items</u>. Most stocked items ship by the end of the next business day. For future dated items, please see the shipping date below.

Item		Qty	Unit Price	Extended Price
BOX OF	I 4-12BT GEL, 12+2W F 10 GELS + MANUAL #: WG1401BOX	3	155.7200	467.16

Lot#:

At certain times of the year BT gel boxes may arrive in insulated coolers containing ambient temperature gel packs.

Safety Data Sheet			
NOVEX WW 4-20% TG GEL 10W 10PK 10 PACK Catalog#: XP04200BOX Lot#: 22012540	4	76.8000	307.20
Safety Data Sheet			
NOVEX SHARP PS PROT STD 2 X 250 UL Catalog#: LC5800 Lot#: 2417626	2	227.1400	454.28
Safety Data Sheet			
PCR2.1 VECTOR 20 REACTIONS Catalog#: K202020 Lot#:	1	224.1000	224.10
Safety Data Sheet			
PURELINK HIPURE FILTER MAXI 25 REACTIONS Catalog#: K210017 Lot#: 01202558	1	448.1400	448.14
Safety Data Sheet			
RPMI 1640 (1X) LIQUID 10X500ML	1	171.6000	171.60

Catalog#: 11835105 Lot#: Safety Data Sheet **DMEM** 1 129.3500 129.35 10 X 500ML Catalog#: 21063045 Lot#: Safety Data Sheet 5 18.7500 93.75 **L-GLUTAMINE 200MM** 100ML Catalog#: 25030024 **Lot#**: 2401893 Safety Data Sheet NON ESS AMINO ACIDS (100X)(CE) 1 15.9000 15.90 100ML Catalog#: 11140035 Lot#: 2342301 Safety Data Sheet 3 28.8500 86.55 **HEPES BUFFER 1M (CE) 20ML** Catalog#: 15630049 **Lot#**: 2412550 Safety Data Sheet

POLY-D-LYSINE

1

89.5100

89.51

100 ML

Catalog#: A3890401 Lot#: 959890A

Safety Data Sheet

TAE BUFFER, 10X 4000ML

1

59.2500

59.25

Catalog#: 15558026 Lot#: 2424468

Safety Data Sheet

The following items <u>require additional time to prepare for shipment</u> and are estimated to be available on the date listed below. We will provide you with an Order Update as product availability changes.

Item	Qty	Unit Price	Extended
			Price

NP MIDI 4-12BT GEL, 20WBOX OF 10 GELS + MANUAL

2 155.7200 311.44

Catalog#: WG1402BOX

At certain times of the year BT gel boxes may arrive in insulated coolers containing ambient temperature gel packs.

Safety Data Sheet

Estimated Availability Date: 07/03/2022

DMEM10 X 500ML 1 149.8000 149.80

Catalog#: 31053044

Safety Data Sheet

	Estimat Availability Da 25/02/20	te:
DMEM W/O PR W/O L-GLUT10X500ML Catalog#: 11880036	1 127.5000 127.	50
Safety Data Sheet		
	Estimat Availability Da 28/02/20	te:
FBS, QUALIFIED, HI500ML Catalog#: 10500064	4 206.0200 824.	08
**SERUM ORDER DO NOT CHANGE		
LOT**		
Safety Data Sheet		
	Estimat Availability Da Date Pendin g	te:
SODIUM PYRUVATE MEM 100MM(CE)100ML Catalog#: 11360039	1 8.4800 8.4	48
Safety Data Sheet		
	Estimat Availability Da 28/02/20	te:
PBS DULBECCO'S W/O CA MG (1X)10X500ML Catalog#: 14190169	2 76.0500 152.	10
Safety Data Sheet		
	Estimat Availability Da 28/02/20.	te:
TRISGLYSDS RUN BUF (10X)4X1L4X1L Catalog#: LC26754	1 203.8100 203.	81

Safety Data Sheet

Estimated Availability Date: 28/02/2022

DRY / WET ICE CHARGES Fuel Surcharge #:	48.00
Subtotal VAT	4,372.00 961.84
Total EUR	5,333.84

Billing and Shipping Info

Bill To: 68880022

CNR

IST NANOSCIENZE

PZZA SAN SILVESTRO, 12

56127 PISA

ITALY

Bill To ATTN: NA

Ship To: 68880023

CNR PISA

IST NANOSCIENZE

PZZA S SILVESTRO 12

56127 PISA

ITALY

Ship To ATTN: ILARIA TONAZZINI/

MACRO CHECCHINI

Additional Information



Quick Links

Need Help? Order Support FAQs

Need more help? Contact us

Want a web Account? Online registration

Want to save money? View current promotions

Weore improving your order experience. Learn More

By ordering or accepting delivery of any of our products and services, you expressly confirm that you intend to be bound by and agree to the terms of our quotation, if any, and thermofisher.com Terms and Conditions of Sale to the exclusion of all other terms we have not expressly agreed to in writing, and that the purchase and sale transaction between you and us is subject to and will be governed by thermofisher.com Terms and Conditions of Sale and our quotation.

7 di 7